
CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

ORGANIC COMPOUNDS CONTAINING HALOGENS

Methods Of Preparationof Haloalkanes

1.  


The above reaction is called .

A. Hunsdiecker

B. Swart

C. Strecker

D. Wurtz

C2H5CI + AgF → C2H5F + AgCI

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C4vUPZWKy3Bs


Answer: B

Watch Video Solution

2. The corrent order of dipole moment of alkyl halides is .

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

RI > RBr < RCI > RF

RF > RCI > RBr > RI

RCI > RF > RBr > RI

https://dl.doubtnut.com/l/_C4vUPZWKy3Bs
https://dl.doubtnut.com/l/_iAWdX8uquS1l


3. 


identify the product

A.  .

B.  .

C.  .

D.  .

https://dl.doubtnut.com/l/_Jx6YzSe7SHcO


Answer: A

Watch Video Solution

4. Gem - dibromide is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH(Br)CH(Br)CH3

CH3CBr2CH3

CH2(BR)CH2CH3

CH2BrCH2Br

5. Ethylidence dibromide is

https://dl.doubtnut.com/l/_Jx6YzSe7SHcO
https://dl.doubtnut.com/l/_qArTDDCHVNCZ
https://dl.doubtnut.com/l/_YjsrRt6nvUzS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 − Br

Br − CH2 − CH2 − Br

CH3 − CHBr2

CH2 = CBr2

6. Which of the following halide is  ? .

A. Isopropyl chloride

B. Isobutyl chloride

C. n -propyl chloride

D. n-butyl chloride

Answer: A

2

https://dl.doubtnut.com/l/_YjsrRt6nvUzS
https://dl.doubtnut.com/l/_3eyF59pQU0Ry


Watch Video Solution

7. Benzene haxachloride is

A. 1,2,3,4,5,6-hexachlorocyclohexane

B. 1,2,3,4,5,6-hexachlorocyclohexene

C. 1,6-phenyl-1,6-chlorohexane

D. 1,1-phenyl-6,6-chlorohexane

Answer: A

Watch Video Solution

8. What is the final product of reaction 

 .

A. 

CH3 − C ≡ CH
Na

−−→
CH3 −CH2 −I
−−−−−−−−→

CH2 = CHCH2CH3

https://dl.doubtnut.com/l/_3eyF59pQU0Ry
https://dl.doubtnut.com/l/_TTMQlfQAF8CG
https://dl.doubtnut.com/l/_AE5hq5iqlMWB


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2C ≡ CCH2CH3

CH3CH2CH2CH2CH3

CH3 − C ≡ C − CH2 − CH3

9. The following reaction is known as 

A. Kharasch effect

B. Darzen s process

C. Williamson s synthesis

D. Hunsdiecker synthesis reaction

Answer: B

C2H5OH + SOCI2

Pyridine
−−−−→ C2H5CI + SO2 + HCI

https://dl.doubtnut.com/l/_AE5hq5iqlMWB
https://dl.doubtnut.com/l/_aZe3IHzmvjhu


Watch Video Solution

10. What is the main product of the reaction between 2 -methyl

propene with  ?

A. 1-bromo butane

B. 1-bromo-2 methyl propane

C. 2-bromo butane

D. 2-bromo-2 methyl propane

Answer: D

Watch Video Solution

HBr

11. Which one is the strongest nucleophilic site in the following

species ? 

https://dl.doubtnut.com/l/_aZe3IHzmvjhu
https://dl.doubtnut.com/l/_8h2eXrWbKDB6
https://dl.doubtnut.com/l/_0CJ7o2SXaWVe


 .

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0CJ7o2SXaWVe


12. When ethyl alcohol  reacts with thionyl chloride in the

presence of pyridine the product obtained is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(C2H5OH)

CH3CH2OH

CH3Cl + HCl + SO2

CH3CH2Cl + H2O + SO2

CH3CH2Cl + HCl + SO2

13. preparation of alkyl halides in laboratory is lest preferred by .

A. Treatment of alcohols

B. Addition of hydrogen halides to alkenes .

C. Halide exchange

https://dl.doubtnut.com/l/_Mjz6D0HIuA8P
https://dl.doubtnut.com/l/_2PxJXpaAlrg1


D. Direct halogenation of alkanes .

Answer: B

Watch Video Solution

14. Which of the following organic compounds will give a maxiture of

1-chlorobutane and 2-chlorobutance on chlorintaion

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − C
∣

CH3

H − CH = CH2

HC = C −

H

∣

C = CH2

CH2 = CH − CH = CH2

CH2 = CH − CH2 − CH3

https://dl.doubtnut.com/l/_2PxJXpaAlrg1
https://dl.doubtnut.com/l/_AK03PEgZPUs7


15. Analyes the following reaction and identify the nature of and  

 .

A. Both A and B are 

 .

B. Both A and B are 

 .

C.  .

D.  .

Answer: C

Watch Video Solution

A B

https://dl.doubtnut.com/l/_mrjca35orgHw
https://dl.doubtnut.com/l/_7MTai0CpF7hM


16. The reaction shown below goes through classical carbocation

What is the major product of this reaction 

 .

A. trans-1,3-dibromocyclohexane

B. cise-1,3-dibromocyclohexane

C. cise-1,2-dibromocyclohexane

D. cise-1,2-dibromocyclohexane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7MTai0CpF7hM
https://dl.doubtnut.com/l/_21cCBchAWihR


17. Decreasing order of reactivity of HX in the reaction 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ROH + HX → RX + H2O

HI > HBr > HCI > HF

BRr > HCI > HI > HF

HCI > HBr > HI > HF

HF > HBr > HCI > HI

18.  


In the above reaction the reactivity of different alcohols is

A. Tertiary >Secondary>Primary

B. Tertiary

R − OX + HX → R − X + H2O

https://dl.doubtnut.com/l/_21cCBchAWihR
https://dl.doubtnut.com/l/_gw1MQ3UZ2Xly


C. Tertiary gtSecondarygtPrimary

D. Secondary gtPrimaryltTertiary

Answer: A

Watch Video Solution

19. In the Hunsdiecker reaction .

A. Number of carbon atoms decrease

B. Number of carbon atoms increase

C. Number of carbon atoms remain same

D. none of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gw1MQ3UZ2Xly
https://dl.doubtnut.com/l/_wSwveyhsrsQs
https://dl.doubtnut.com/l/_PaykJqJO2rBV


20. The catalyst used in Raschig s process is

A. 

B. Copper chloride

C. Sunlight

D. Ethanol/NA

Answer: B

Watch Video Solution

LiAIH4

21. In Finkelstein Reaction which reactants are used

A. 

B.  acetone

C. 

D. 

NaI + C2H5OH

NaF +

NaBr + CH3OH

NaI + C2H5Br

https://dl.doubtnut.com/l/_PaykJqJO2rBV
https://dl.doubtnut.com/l/_zFHUOvUXdGHz


Answer: D

Watch Video Solution

22.  


Identify  .

A. Ethyl alcohol, Ethyl chloride and Ethane

B. Ethane Ethyl chloride and Ethyl alcohol

C. Propane Propyl chloride and Propyl alcohol

D. All of the above

Answer: B

Watch Video Solution

(A)
CI2 /h2
−−−−→ (B)

aq .KOH
−−−−→ (C)

[O ]
−−→ CH3CHO

A, B and C

23. Pick up the correct statement about alkyl halides

https://dl.doubtnut.com/l/_zFHUOvUXdGHz
https://dl.doubtnut.com/l/_KvHCK8E2UZwG
https://dl.doubtnut.com/l/_Zw7acXraxwQe


A. They show H-bonding

B. They are soluble in water

C. They are soluble in organic solvent

D. They do not contain any polar bond

Answer: C

Watch Video Solution

24. Recemic mixture is obtained due to the halogenation of

A. isopentane

B. n-pentane

C. neopentane

D. Both(a) and(b)

Answer: D

https://dl.doubtnut.com/l/_Zw7acXraxwQe
https://dl.doubtnut.com/l/_ZSvEkw1HUxx5


View Text Solution

25. The reaction of `SOCI_(2) on alkanols to from alky 1 chlorides gives

good yields because

A. alkyl chlorides are immiscible with 

B. the reaction does not oC Cur via intermediate formation of an

alky chlorosulphite

C. alcohol and  are soluble in water

D. the other products of the reaction are gaseous and escape out

Answer: D

Watch Video Solution

SOCI2

SOCI2

https://dl.doubtnut.com/l/_ZSvEkw1HUxx5
https://dl.doubtnut.com/l/_PL5oopX9QR6n


26. How many chiral compounds are possible on monochlorination of

2-Methyl butane ?

A. 8

B. 2

C. 4

D. 6

Answer: B

Watch Video Solution

27. Which branched chain isomer of the hydrocarbon with molecular

mass  gives only one isomer of mono substituted alky halide ?

A. Tertiary butyl chloride

B. Neopentane

72μ

https://dl.doubtnut.com/l/_Jn9ZiG2jfHnL
https://dl.doubtnut.com/l/_Veo4lSRECu0S


C. Isohexane

D. Neohexane

Answer: B

Watch Video Solution

28. The reaction conditions leading to the best yield of  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5Cl

C2H6(excess) + CI2

UV light
−−−−→

C2H6(excess) + CI2

dark
−−−−−−−−→
om temperature

C2H6(excess) + CI2(excess)
UV light
−−−−→

C2H6 + CI2

UV light
−−−−→

https://dl.doubtnut.com/l/_Veo4lSRECu0S
https://dl.doubtnut.com/l/_wmO66a8i8Zmj
https://dl.doubtnut.com/l/_RIrwaQVYkhd8


29. The number of structural and configurational isomers of a bromo

compound, , formed by the addition of  to 2-pentyne

respectively, is:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

C5H9Br HBr

1 2

2 4

4 2

2 1

30. What is the chief product obtained when butane is treated

with  in the presence of light at ?

A. 

n −

Br2 130∘C

CH3CH2CH2CH2Br

https://dl.doubtnut.com/l/_RIrwaQVYkhd8
https://dl.doubtnut.com/l/_zzNodVK8mv93


Physical Properties And Nuleophilic Substitution Reaction

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ch3CH2CHBr C
∣

CH3

HBr

Ch3 − CH2HBr C
∣

CH2Br

HBr

Ch3 − CH2HBr C
∣

CH3

Br2

1. For  


the rate of reaction is given by the expression .

A. 

B. `rate=k[OH-]

C. rate=k[CH_(3)Br]`

CH3Br + OH → CH3OH + Br

rate = k[CH3Br]
0

https://dl.doubtnut.com/l/_zzNodVK8mv93
https://dl.doubtnut.com/l/_ntEwP9Ip542r


D. 

Answer: C

Watch Video Solution

rate = k[CH3Br]0[OH]0

2. What would be the produt when neopentyl chloride reacts with

sodium ethoxide

A. 2-Methyl-2butanol1

B. Neopentylalcoho1

C. both a and b

D. 2-Methyl-2-butene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ntEwP9Ip542r
https://dl.doubtnut.com/l/_TfNlyu1nnQwY
https://dl.doubtnut.com/l/_3IrCEJvAtYKZ


3. The rate law for the reaction 

 is given by 


Rate . The rate of the reaction will be

A. Doubled on doubling the concentration of alkyl halide to half

B. Halved on reducing the concentration of alkyl halide to half

C. Decreased on increasing the temperature of the reaction

D. Unaffected by increasing the temperature of the reaction .

Answer: B

Watch Video Solution

RCl + NaOH(aq) → ROH + NaCl

= k[RCl]

4.  reaction is favoured by

A. Non-polar solvent

B. More no of alkyl group on the carbonv atom

SN1

https://dl.doubtnut.com/l/_3IrCEJvAtYKZ
https://dl.doubtnut.com/l/_Hn48nNiyGLz7


C. Small groups on the carbon attached to the halogen atom

D. None of these

Answer: B

Watch Video Solution

5. When ethyl bromide is treated with moist  main product

is//are.

A. Ethyl ether

B. Ethanol

C. Ethoxy ethane

D. All of the above

Answer: D

Watch Video Solution

Ag2O

https://dl.doubtnut.com/l/_Hn48nNiyGLz7
https://dl.doubtnut.com/l/_iMAynnffa8bg


6. Treatment of ammonia with excess of ethyl chloride will yield

A. Diethyl amine

B. Ethane Ethyl chloride and Ethyl alcohol

C. Tetraethyl ammonium chloride

D. Methyl amine

Answer: C

Watch Video Solution

7. The reactivity of ethyl chloride is

A. More or less equal to that of benzyl chloride

B. More than that of benzyl chloride

C. More or less equal to that of chlorobenzene

https://dl.doubtnut.com/l/_iMAynnffa8bg
https://dl.doubtnut.com/l/_CBodTQEeGPqG
https://dl.doubtnut.com/l/_anyScyk7B55i


D. Less than that of chlorobenzene

Answer: B

Watch Video Solution

8. The reactivities of methy chloride propyl chloride and

chlorobenzene are in the order

A. Methylchloride gt propyl chloride gt chlorbenzene

B. Propyl chloridegtmethy chloride gtchlorobenzene

C. Methyl chloridegt chlorobenzene gtpropyl chloride

D. Chlorobenzene gtpropyl chloride gtmethyl chloride

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_anyScyk7B55i
https://dl.doubtnut.com/l/_0peJtXUaRWLM
https://dl.doubtnut.com/l/_MiTLTkqlKukz


9. Reaction of  bromide with sodium methoxide produces

A. Isobutane

B. Isobutylene

C. Sodium t-butoxide

D. t- butyl menthylether

Answer: B

Watch Video Solution

t − butyl

10. 

Compounds  and  are .

A. 

B. 

C6H5 − CH2 − CI + KCN(aq) → C6H5 − CH(2) − C = N + KCI

X Y

C6H6 + KCI

C6H5CH2CN + KCI

https://dl.doubtnut.com/l/_MiTLTkqlKukz
https://dl.doubtnut.com/l/_hT5yQs2hFUAE


C. 

D. None of these

Answer: B

Watch Video Solution

C6H5CH3 + KCI

11. Ethylidence chloride on treatment with aqueous  gives .

A. Ethylene glycol

B. Acetaldehyde

C. Formaldehyde

D. None

Answer: B

Watch Video Solution

KOH

https://dl.doubtnut.com/l/_hT5yQs2hFUAE
https://dl.doubtnut.com/l/_xn4oskOe0yn3
https://dl.doubtnut.com/l/_Rs5tlnxeMVmv


12.  are

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

C2H5CI + KCN → X
Hydrolysis
−−−−−→ Y . X' and Y

C2H6 C2H5CN

C2H5CN C2H6

C2H5CN C2H5CH2NH2

C2H5CN C2H5COOH

13. The set of compounds in which the reactivity of halogen atom in

the ascending order is .

A. Vinyl chloride ,chloroethane, chlorobenzene.

B. Vinyl chloride, chlorobenzene,chloroethane,

C. Chloroethane ,chlorobenzene, vinyl chloride

https://dl.doubtnut.com/l/_Rs5tlnxeMVmv
https://dl.doubtnut.com/l/_8VXpizbyIGMp


D. Chlorobenzene, vinyl chloride, chloroethane

Answer: D

Watch Video Solution

14. Viny chloride reacts with  to from

A. 1,1-dichloroethane

B. 1,2-dichloroethane

C. Tetrachloroethy lene

D. Mixture of  and 1,1 dichloroethane

Answer: A

Watch Video Solution

HCI

1, 2

https://dl.doubtnut.com/l/_8VXpizbyIGMp
https://dl.doubtnut.com/l/_XYaR9awZfCav


15. When ethyl iodide is heated with silver nitrate the product

obtained is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5Ag

Ag − O − NO2

C2H5O − NO2

C2H5I − NO2

16. For a given alkyl group the densities of the halides follow the

order

A. 

B. 

RI > RBr < RCI

RI > RBr < RCI < RBr

https://dl.doubtnut.com/l/_ZXoWUxiYjrTW
https://dl.doubtnut.com/l/_W9PI6sL7H4Sm


C. 

D. 

Answer: D

Watch Video Solution

RBr < RI < RCI

RCI < RBr < RI

17.  


Identify the major product

A. 

B. 

https://dl.doubtnut.com/l/_W9PI6sL7H4Sm
https://dl.doubtnut.com/l/_S6arluhwlCpN


C. 

D. 

Answer: A

Watch Video Solution

18. HEATING ALKYL HALIDES WITH DRY SILVER OXIDE

A. Ester

B. Ether

C. Ketone

D. Alcohol

Answer: B

h id l i

https://dl.doubtnut.com/l/_S6arluhwlCpN
https://dl.doubtnut.com/l/_LpE0v6F5N0z6


Watch Video Solution

19. Alkyl halide can be converted into alkene by

A. Nucleophilic substitution reaction

B. Elimination reaction

C. Both nucleophilic substitution and elimination dipole moment

is

D. Rearrangement

Answer: B

Watch Video Solution

20. Among the following, the molecule with the highest dipole

moment is :

https://dl.doubtnut.com/l/_LpE0v6F5N0z6
https://dl.doubtnut.com/l/_Eguf7IE3xHUE
https://dl.doubtnut.com/l/_IGLSdLWa9m5c


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3Cl

CH2Cl2

CHCl3

CCl4

21. The increasing order of reactivity of the following isomeric halides

with  is 


(I)  


(II)  


(III)  


(IV) 

AgNO3(H2O + alcohol)

C6H5 − CH = CH − CH2 − CH2 − CI

C6H5 − CH = CH − C
∣

Cl

H − CH3

C6H5 − C
∣

CI

= CH − CH2 − CH3

C6H5 −

C6H5

∣

C
∣

Cl

− CH = CH2

https://dl.doubtnut.com/l/_IGLSdLWa9m5c
https://dl.doubtnut.com/l/_plXbM5rKPazd


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

III < II < IV < I

III < IV < II < I

III < I < II < IV

III < I < II < IV

22. Consider the following reactions which are carried out at the

same temperature 

 


 

Which of the following statement is correct about these reactions

A. Both the reactions take place at the same rate

B. The first reaction takes place faster than second reaction .

CH3 − Br + OH Θ EtOH
−−−→ CH3 − OH + BrQ...(i)

CH3Br + OH Θ DMSO
−−−→ CH3 − OH + BrQ...(ii)

https://dl.doubtnut.com/l/_plXbM5rKPazd
https://dl.doubtnut.com/l/_7VJM5rp5A0EC


C. The second reaction takes place faster than first reaction .

D. Both the reactions take place by  mechanism .

Answer: C

Watch Video Solution

SN1

23. Which of the follwing is the example of  reaction .

A. 

B. 

C. 

D. 

Answer: A

SN2

CH3Br + OH − CH3OH + Br

CH3C
∣

Br

HCH3 + OH → CH3 C
∣

OH

HOH + Br−

CH3CH2OH
_H2O
−−−→ CH2 = CH2

CH3 −

CH3

∣

C
∣

Br

− CH3 + OH − → CH3 −

CH3

∣

C
∣

H

− O − CH3 + Br−

https://dl.doubtnut.com/l/_7VJM5rp5A0EC
https://dl.doubtnut.com/l/_oe4Wbv82V93M


Watch Video Solution

24. Teriary alkyl halides are practically inert to  mechanism

because of .

A. Insolubility

B. Instability

C. Inductive effect

D. Steric hindrance

Answer: D

Watch Video Solution

SN2

25. The structure of the major product formed in the following

reaction 

https://dl.doubtnut.com/l/_oe4Wbv82V93M
https://dl.doubtnut.com/l/_ejw2QF4b9s4F
https://dl.doubtnut.com/l/_qV5QMD0ab85D


 .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qV5QMD0ab85D


26. A solution of (-l)- chloro -1 phenyletane in toluene recemises

slowly in the presence of a small amunt of  due to the

formation of .

A. carbanion

B. carbene

C. carbocation

D. free radical

Answer: C

Watch Video Solution

SbCI5

27. The order of reactivities of the following alky halides for an 

reaction is .

SN2

https://dl.doubtnut.com/l/_qV5QMD0ab85D
https://dl.doubtnut.com/l/_EvBnxvgA1pHG
https://dl.doubtnut.com/l/_dTKs553ch2pP


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

RF > RCl > RBr > RI

RF > RBr > RCl > RI

RCl > RBr > RF > RI

RI > RBr > RCl > RF

28. The following compound on hydrolysis in equeous acetone will

give . 

https://dl.doubtnut.com/l/_dTKs553ch2pP
https://dl.doubtnut.com/l/_Th8ft08Nussv


A. Mixture of (K) and (L)

B. Mixture of (K) and (M)

C. only(M)

D. only(K)

https://dl.doubtnut.com/l/_Th8ft08Nussv


Answer: A

Watch Video Solution

29. The major product of the following reaction is 

 .

A.  .

B.  .

https://dl.doubtnut.com/l/_Th8ft08Nussv
https://dl.doubtnut.com/l/_ezJNUMxHUacv


C.  .

D.  .

Answer: A

View Text Solution

30. KI in acetone, undergoes  reaction with each of  and

S The rates of the reaction very as 

  .

SN2 P , Q, R

H3C − Cl
P

https://dl.doubtnut.com/l/_ezJNUMxHUacv
https://dl.doubtnut.com/l/_koQFDLJZ91sB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P > Q > R > S

S > P > R > Q

P > R > Q > S

R > P > S > Q

31.  . 


The product obtained will be .

A. d-form

B. l-form

C. racemic mixture mainly

D. None of these

CH3 −

C2H5

∣

C
∣

C3H7 ( n )

− CI
NaOH ( ag )
−−−−−−→ CH3 −

C2H5

∣

C
∣

C3H7 ( n )

− CI

https://dl.doubtnut.com/l/_koQFDLJZ91sB
https://dl.doubtnut.com/l/_4tmMu0KPTpqZ


Answer: C

Watch Video Solution

32. What is the product of the following  reaction ? 


 .

A.  .

B.  .

C.  .

SN2

https://dl.doubtnut.com/l/_4tmMu0KPTpqZ
https://dl.doubtnut.com/l/_3q9hApEKwGy4


D.  .

Answer: C

Watch Video Solution

33. Which is the correct reaction coordinate diagram for the

following solvolysis reaction ?.

 .

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_3q9hApEKwGy4
https://dl.doubtnut.com/l/_vKL4hRWSwyNd


View Text Solution

34. Rate limiting  followingthe sequence The statement about

sequence on the basis of assumption that  contains  different

groups is 

 .

A. more stable carbocation greater is the proportional of

recemization .

B. the more nucleophilic the solvent the greater in the proportion

of inversion .

C. In above sequence (b) represent separately solvated pair of

ions .

D. Allof the these

Answer: D

SN1

R 3

https://dl.doubtnut.com/l/_vKL4hRWSwyNd
https://dl.doubtnut.com/l/_CgcT3dwjTENL


Elimination Reaction And Polyhalogen Compounds

Watch Video Solution

1. Ethyl chloride +aq  gives the product .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KOH

CH3CH2OH

CH3 − CH3

CH2 = CH2

CH3CH2OK

https://dl.doubtnut.com/l/_CgcT3dwjTENL
https://dl.doubtnut.com/l/_0jxr6A1KhzDl


2. When ethyl alcohol and  reacted in presence of  yellow

crystals of …are formed ? .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KI NaaCO3

CHI3

CI4

CH2I2

C2H5I

3. In preparation of  from ethanol and beeaching powder the

latter provides .

A. 

B. 

CHCI3

Ca(OH)2

Cl2

https://dl.doubtnut.com/l/_4RoA6bav23U5
https://dl.doubtnut.com/l/_fF1aYoqyTA1S


C. Both(a)and(b)

D. None of these

Answer: C

Watch Video Solution

4. Which one of following compounds undergoes  reaction most

readily?

A. 

B. 

C. 

D. 

Answer: D

EI

CH3 −

CH3

∣

C
∣

Br

− CH2 − CH3

CH3 _ CH2 − CH2 − Br

CH3 − CH2 − CH2 − I

CH3 −

CH3

∣

C
∣

I

− CH2 − CH3

https://dl.doubtnut.com/l/_fF1aYoqyTA1S
https://dl.doubtnut.com/l/_YQ7julAfJRQT


Watch Video Solution

5. Which one of the following processes does not oC Cur during

formation of  from  and bleaching powder? .

A. Hydrolysis Oxidation

B. Oxidation

C. Reducation

D. Chlorination

Answer: C

Watch Video Solution

CHCI3 C2H5OH

6. Chloroform can be obtained from

A. Methano1

https://dl.doubtnut.com/l/_YQ7julAfJRQT
https://dl.doubtnut.com/l/_LvWWW2wAj5Qf
https://dl.doubtnut.com/l/_m5fqcfgEC3Il


B. Methanal

C. Propano1-1

D. Propano1-2

Answer: D

Watch Video Solution

7. Which compound does not from iodofrom with alkali and iodine? .

A. Acetone

B. Ethano1

C. Diethy 1ketone

D. Isopropyl alcohol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_m5fqcfgEC3Il
https://dl.doubtnut.com/l/_rwQaAtH5M02J


8. Which of thye following will be most reactive for  reaction ? .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

E1

C6H5 − CH − Br

CH2 = CH −

Br

∣

CH − CH3

CH2 = CH −

Br

∣

C
∣

CH3

− CH3

9. Which of the following compound will give a yellow precipitate

with iodine and alkali?

https://dl.doubtnut.com/l/_rwQaAtH5M02J
https://dl.doubtnut.com/l/_fgKJtRvBuksb
https://dl.doubtnut.com/l/_dYjFePSyXI6l


A. 2-hydroxy propane

B. Acetophenone

C. Methyl acetone

D. Acetamide

Answer: B

Watch Video Solution

10. Acetone reacts with  in presence of  to from

A. 

B. 

C. 

D. 

Answer: C

I2 NaOH

C2H5I

C2H4I2

CHI3

CH3I

https://dl.doubtnut.com/l/_dYjFePSyXI6l
https://dl.doubtnut.com/l/_aohy2N0MvCkM


Watch Video Solution

11. In the given reaction 

[X] as the major product among the elimination products is 

 .

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_aohy2N0MvCkM
https://dl.doubtnut.com/l/_DDagyaW1FC57


Answer: C

Watch Video Solution

12. Which of the following is responsible for iodoform reaction ? .

A. Formalin

B. Methanol

C. Acetic acid

D. Ethanol

Answer: D

Watch Video Solution

13. Which of the following cannot undergo  reaction ? .E2

https://dl.doubtnut.com/l/_DDagyaW1FC57
https://dl.doubtnut.com/l/_p0ttScfVscYO
https://dl.doubtnut.com/l/_MuQrbEfbHbYv


A.  .

B.  .

C.  .

D. None of these

Answer: C

Watch Video Solution

14. Which of the following compounds gives trichloromethane on

distilling with bleaching powder ? .

A. Methanal

https://dl.doubtnut.com/l/_MuQrbEfbHbYv
https://dl.doubtnut.com/l/_tUBOIl9zVvSU


B. Phenol

C. Ethanol

D. Methano1

Answer: C

Watch Video Solution

15. Reaction of ethyl chloride with sodium in presence of dry ether

leads to

A. Ethane

B. Propane

C. n-butane

D. n-pentane

Answer: C

https://dl.doubtnut.com/l/_tUBOIl9zVvSU
https://dl.doubtnut.com/l/_91lCjznapf84


Watch Video Solution

16.  


in the above reaction  stands for .

A. An oxidant

B. A reductant

C. Light and air

D. None of these

Answer: C

Watch Video Solution

2CHCI3 + O2

X
−−→ 2COCI2 + 2HCI

X

17. Phosgene is the common name for

A. andCO2 PH3

https://dl.doubtnut.com/l/_91lCjznapf84
https://dl.doubtnut.com/l/_7g316W8flKn5
https://dl.doubtnut.com/l/_SNxu301fEPJB


B. Phosphorylchloride

C. Carbonylchloride

D. Carbon tetrachloride

Answer: C

Watch Video Solution

18. Reaction  


Nal is called

A. Hoffmann's reaction

B. Dow's reaction

C. Wurtz reaction

D. Riemer-Tiemann'sreaction

Answer: C

C2H5I + C5H11I + 2Na →

C2H5 − C5H11 + 2

https://dl.doubtnut.com/l/_SNxu301fEPJB
https://dl.doubtnut.com/l/_vrEfYioDnREs


Watch Video Solution

19.  .

A.  .

B.  .

C.  .

D.  .

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_vrEfYioDnREs
https://dl.doubtnut.com/l/_iXIps0tdzOlV


20. The dehydrobromination of 2bromobutane give 

 The product is .

A. Hofmann product

B. Saytzeff product

C. Hoffmann-Saytzeff product

D. Markownikoff product

Answer: B

Watch Video Solution

CH3CH = CHCH3

21. Which of the following statements about chloroform is false?

A. It is a colourless sweent-smelling liquid

B. Is is almost insoluble in water

C. It is highly inflammable

https://dl.doubtnut.com/l/_RhLgDvb1cU0s
https://dl.doubtnut.com/l/_0aHcxn6Qgdh2


D. It can be used an as inhalational anaesthetic agent

Answer: C

Watch Video Solution

22. In which of the following reaction, regioselectivity can be

observed .

A. 

B. 

C. 

D. 

Answer: C

CH3 −

CH3

∣

C
∣

H

− CH2 − CI
alc .KOH / Δ
−−−−−−−−→

CH3 −

CH3

∣

C
∣

CI

− CH3

alc .KOH / Δ
−−−−−−−−→

CH3 −

CH3

∣

C
∣

CI

− CH2 − CH3

alc .KOH / Δ
−−−−−−−−→

CH3 −

CH3

∣

C
∣

CH3

− CH2 − CI
alc .KOH / Δ
−−−−−−−−→

https://dl.doubtnut.com/l/_0aHcxn6Qgdh2
https://dl.doubtnut.com/l/_FguYETy9C3DD


View Text Solution

23. Which of the following compounds will make precipitate most

readily with  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AGNO3

CCI3CHO

CHCI3

C6H5CH2CI

CKI3

24.  cannot give precipitate with  due to.

A. Formation of complex with 

CCI4 AgNO3

AgNO3

https://dl.doubtnut.com/l/_FguYETy9C3DD
https://dl.doubtnut.com/l/_Ju5w5IFaPEgt
https://dl.doubtnut.com/l/_dTxyeOHS1Uwp


B. Evolution of  gas

C. Chloride ion is not formed

D.  does not give silver ion .

Answer: C

Watch Video Solution

CI2

AgNO3

25.  cB reaction is gives by which of the following

A. 

B. 

C.  .

D. All of these

Answer: D

E1

CF3 − CHCI2

C6H5 − C
∣

NO2

H − CH2Br

https://dl.doubtnut.com/l/_dTxyeOHS1Uwp
https://dl.doubtnut.com/l/_YtS4uRlktOld


View Text Solution

26. Ethyl bromide reacts with lead -sodium alloy to from

A. Tetraethyl lead

B. Tetraethyl bromide

C. Both (a) and(b)

D. none of the above

Answer: A

Watch Video Solution

27. Iodofrom heated with  powder to from

A. Acetylene

B. Ethylene

Ag

https://dl.doubtnut.com/l/_YtS4uRlktOld
https://dl.doubtnut.com/l/_hNnFUvRkgTbX
https://dl.doubtnut.com/l/_u7zcfgItNuWJ


C. Methane

D. Ethane

Answer: A

Watch Video Solution

28. 1-chlorobutane reacts with alcoholic  to from

A. 1-butene

B. 2-butene

C. 1-butanol

D. 2-butanol

Answer: A

Watch Video Solution

KOH

https://dl.doubtnut.com/l/_u7zcfgItNuWJ
https://dl.doubtnut.com/l/_QH8m9oeYgK6s
https://dl.doubtnut.com/l/_P7YIpoqGYviL


29. By heating a maxiture of  with silver power the compound

formed is

A. Acetylene

B. Silver acetate

C. Methanol

D. None of these

Answer: A

Watch Video Solution

CHCl3

30. Chloropicrin is

A. Trichloro acetaldehyde

B. Nitrochlorofrom

C. `2,4,6-trinitro pheno1

https://dl.doubtnut.com/l/_P7YIpoqGYviL
https://dl.doubtnut.com/l/_evzvaXEsuhQK


D. None of these

Answer: B

Watch Video Solution

31.  does not give precipitate with  because .

A.  does not ionise in water

B.  does not reacts with 

C.  is chemically inert

D. None of these

Answer: A

Watch Video Solution

AgNO3 CHCI3

CHCI3

AgNO3 CHCI3

CHCI3

https://dl.doubtnut.com/l/_evzvaXEsuhQK
https://dl.doubtnut.com/l/_XS3O3EgbzE07


32. When  2-Dibromo-1,2-diphenyl ethane is treated

with alcoholic solution of  thev most probable product would

be .

A. trans-1,2diphenylethene

B. A mixture of cis trans alkenyl bromide

C. cis-alkenyl bromide

D. trans- alkenyl bromide

Answer: D

View Text Solution

(1R, 2R) − 1

KOH

33. The corrent order of  ratio for the % yield of product of

the following halide is 

(P)  


SN2/E2

CH3 − CH2 −

Ph

∣

C
∣

I

− CH3

https://dl.doubtnut.com/l/_Lnorogk8AU0H
https://dl.doubtnut.com/l/_Y4MljG7tnzh6


(Q)  


(R)  


(S)  .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − C
∣

Ph

H − C
∣

I

H − CH3

CH3 − CH2 − I

CH3CH2 − C
∣

I

H − CH3

R > S > Q > P

R > Q > S > P

P > R > S > Q

Q > P > R > S

34. In Wurtz reaction alkyl halide react with

A. Sodium in ether

B. Sodium in dry ether

https://dl.doubtnut.com/l/_Y4MljG7tnzh6
https://dl.doubtnut.com/l/_JUZlOWhkhcjr


C. Sodium only

D. Alkyl halide in ether

Answer: B

Watch Video Solution

35. Chloroform reacts with concentrated  to give

A. Water gas

B. Tear gas

C. Laughing gas

D. Producer gas

Answer: B

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_JUZlOWhkhcjr
https://dl.doubtnut.com/l/_mYwFvJ9pb0SV
https://dl.doubtnut.com/l/_1sNzD9PojCIi


36. Two percent of ethanol is added during the oxidation of

chloroform to stop the formation of carbonyl chloride In this

reaction ethanol acts as

A. Auto catalyst

B. Negative catalyst

C. Positive catalyst

D. None of these

Answer: B

Watch Video Solution

37. Provide the structure of the major organic product which results

in the following reaction. 

https://dl.doubtnut.com/l/_1sNzD9PojCIi
https://dl.doubtnut.com/l/_8v6XJ1rhhBhD


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_8v6XJ1rhhBhD


38. In the following reation  is 


 (highly offensive odour)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X

CH3NH2 + X + KOH → CH3NC

CH2CI2

CHCI3

CH3CI

CCI4

39. Which one of the following is the correct formula of

dichlorodipheyl trichloroethane ? .

A. 

https://dl.doubtnut.com/l/_oUBuK2I5MiQW
https://dl.doubtnut.com/l/_DnHAdkUNc90V


B. 

C. 

D. 

Answer: A

Watch Video Solution

40.  [Where x + y =4] These compounds are not used

because

A. These are fluorocarbons

B. These are difficult to synthesise

CFxCIy

https://dl.doubtnut.com/l/_DnHAdkUNc90V
https://dl.doubtnut.com/l/_2XPhPJoylcOW


C. They deplete ozone layer

D. None of these

Answer: C

Watch Video Solution

41. What is the increasing oder of reactivity of the following in an 

reaction with ethanolic  solution ? 


A. 

B. 

C. 

E2

KOH

I < II < III < IV

I < II < IV < III

III < I < II < IV

https://dl.doubtnut.com/l/_2XPhPJoylcOW
https://dl.doubtnut.com/l/_1lvv90ti84B0


D. 

Answer: B

View Text Solution

IV < III < II < I

42. Freon (dichlorodifluoro methane) is used .

A. As local anaesthetic

B. For dissolving impurities in metallurgical process .

C. In refrigerator

D. In printing industry

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1lvv90ti84B0
https://dl.doubtnut.com/l/_BUoP309QBUl5


43. Which of the following is known as freon which is used as a

refrigerant ? .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl2F2

CHCl3

CH2F2

CF4

44. Which plastic is obtained from  as follows . 


 .

A. Bakelite

B. Teflon

CHCI3

CHCI3

HF
−−→
SbF3

X
800 ∘C
−−−→ Y

polymerisation
−−−−−−−−→ Plastic

https://dl.doubtnut.com/l/_O81FKA0fdTWi
https://dl.doubtnut.com/l/_nMHz3If4i89Z


C. Polythene

D. Perspex

Answer: B

Watch Video Solution

45. The above structural formula refers to 

 .

A. BHC

B. DNA

C. DDT

https://dl.doubtnut.com/l/_nMHz3If4i89Z
https://dl.doubtnut.com/l/_sixthofmxN4Y


D. RNA

Answer: C

Watch Video Solution

46. In the reaction the given below 

The incorrect statement concerning the above reation is are 

 .

A. (I) is the major elimination product

B. (II) is formed at faster rate than (I)

C. (I) is formed at faster rate than (II)

https://dl.doubtnut.com/l/_sixthofmxN4Y
https://dl.doubtnut.com/l/_XVIAOD5mUnNC


D. increasing order of reactivity with different  is 

 .

Answer: C

View Text Solution

X

F < CI < Br < I

47. An isomer of  on boiling with aqueous  gives

acetone Hence the isomer is

A. 2,2dichloropropane

B. 1,2dichloropropane

C. 1,1dichloropropane

D. 1,3dichloropropane

Answer: A

Watch Video Solution

C3H6CI2 KOH

https://dl.doubtnut.com/l/_XVIAOD5mUnNC
https://dl.doubtnut.com/l/_gdlh5Zfy59TJ


48. Consider the following reaction and the product formed 

 .


One of various product 

The most likely machanism of the above reaction is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

A − CH2 − C
∣

Br

H − CH3

C2H5OD
−−−−−→
C2H5ONa

A −

D

∣

C = CH − CH3

E2

E1cb

E1

E2c

https://dl.doubtnut.com/l/_gdlh5Zfy59TJ
https://dl.doubtnut.com/l/_5PFapqlKpMEq


49. An organic compound  on reation withNa/diethyl

ether gives a hydrocarbon which on monochlorination gives only one

chloro derivative  is .

A. t-butyl chloride

B. s-butyl chloride

C. Isobutyl chloride

D. n-butylchloride

Answer: A

Watch Video Solution

A(C4H6CI)

A

50.  is an organometallic compound due to

A. Mg -Br bond

B. C-Mg bond

CH3MgBr

https://dl.doubtnut.com/l/_pKwCMflG37EF
https://dl.doubtnut.com/l/_l7Kf3J5ZtldI


C. C-Br bond

D. C-H bond

Answer: B

Watch Video Solution

51. When primary aminereacts with chloroform in ehthanolic 

then the product is .

A. As isocyanide

B. An aldehyde

C. A cyanide

D. An alcohol

Answer: A

Watch Video Solution

KOH

https://dl.doubtnut.com/l/_l7Kf3J5ZtldI
https://dl.doubtnut.com/l/_l2m5hRppt1Nv


52. Alkyl halides react with dialkyl lithium cuprate to give

A. AlKenes

B. Alkyl copper halide

C. AlKanes

D. Alkenyl halide

Answer: C

Watch Video Solution

53. Elimination of from 2 bromobutane results in the formation

of .

A. Equimolar mixture of 1-and 2butene

B. Predominantly 2-butene

HBr

https://dl.doubtnut.com/l/_l2m5hRppt1Nv
https://dl.doubtnut.com/l/_wvMwP977QjvP
https://dl.doubtnut.com/l/_PslcCHA8x63T


C. Predominantly 1-butene

D. Predominantly 2-butanol

Answer: B

Watch Video Solution

54. Which product is formed when trans-2-phenyl-1-

bromocyclopentane is treated with alcoholic KOH?

A. 4-Phenylcyclopentene

B. 2-Phenylcyclopentene

C. 1-Phenylcyclopentene

D. 3-Phenylcyclopentene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PslcCHA8x63T
https://dl.doubtnut.com/l/_EItcw1MzAJGc


55. The major organic compound formed by the reaction of 1,1,1-

trichloroethane with silver power is .

A. acetylene

B. ethene

C. 2-butyne

D. 2-butane

Answer: C

Watch Video Solution

56. Iodofrom can be prepared from all except

A. ethylmethylketone

B. isopropyl alcohol

https://dl.doubtnut.com/l/_EItcw1MzAJGc
https://dl.doubtnut.com/l/_wNQvnbx2e9Pj
https://dl.doubtnut.com/l/_hKFBlKEAEYIR


C. 3 methyl-2 butanone

D. isobutylalcohol

Answer: D

Watch Video Solution

57. n-Propyl bromide on treatment with ethanolic potassium

hydroxide produes .

A. Propane

B. Propene

C. Propyne

D. Propano1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hKFBlKEAEYIR
https://dl.doubtnut.com/l/_hDSI3GtrsCjo


58. 1-chlorobutane reacts with alcoholic  to from

A. 1-butene

B. 2-butene

C. 1-butanol

D. Propano1

Answer: B

Watch Video Solution

KOH

59. Isobutyl magneisum bromide with dry ether and absolute alcohol

gives

A. 

B. 

CH3 − C
∣

CH3

H − CH2OH and CH3CH2MgBr

CH3 − C
∣

CH3

H − CH3OH and MgBr(OC2H5)

https://dl.doubtnut.com/l/_hDSI3GtrsCjo
https://dl.doubtnut.com/l/_oFjRQAqqmDHf
https://dl.doubtnut.com/l/_CcoYJ84h2jFP


C. 

D. 

Answer: B

Watch Video Solution

CH3 − C
∣

CH3

H − CH3OH and Mg(OH)Br

CH3 − C
∣

CH3

H − CH3 and CH3CH2OMgBr

60. During debromination of meso  dibromobutane, the major

compound formed is

A. n-butane

B. 1-butene

C. cis-2butene

D. trans-2butene

Answer: D

Watch Video Solution

−

https://dl.doubtnut.com/l/_CcoYJ84h2jFP
https://dl.doubtnut.com/l/_KJTqOGneZ4rZ


61.  on reaction with  produces

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)3CMgCl D2O

(CH3)3CD

(CH3)3OD

(CH3)3CD

(CH3)3OD

62. Identify the set of reagents  reaction conditions  and 

in the following set of transformations. 

/ 'X' ' Y '

https://dl.doubtnut.com/l/_KJTqOGneZ4rZ
https://dl.doubtnut.com/l/_iaiToiymmTpX
https://dl.doubtnut.com/l/_qg4Va7S0IWzi


 


A.  =dilute aqueous  acetic acid 

.

B.  concentrated alcoholic acetic

acid,  .

C.  dilute aqueous Na  .

D.  concentrated alcoholic 

.

Answer: B

Watch Video Solution

CH3 − CH2CH2Br
X

−−→ Product
Y

−−→

X NaOH, 20∘C, Y = HB/ 20∘C

X = NaOH, 80∘C, Y = HBr/

20∘C

X = OH, 20∘C, Y = Br2 /CHCI3, 0∘C

X =

NaOH, 80∘C, Y = Br2 /CHCI3

https://dl.doubtnut.com/l/_qg4Va7S0IWzi


63. How many structures for  are possible 


 .

A. 2

B. 5

C. 6

D. 3

Answer: D

Watch Video Solution

F

64. What would be the product formed when 1-bromo-3-

chlorocylobutane reacts with two equivalents of metallic sodium in

https://dl.doubtnut.com/l/_qg4Va7S0IWzi
https://dl.doubtnut.com/l/_fTFMWiTXfbSI
https://dl.doubtnut.com/l/_V4yX8y3xHPv1


water ?

A.  .

B.  .

C.  .

D.  .

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_V4yX8y3xHPv1


65. The reagents (s) for the following conversion 

 .

A. alcoholic 

B. alcoholic  followed by 

C. aqueous  followed by  .

D. 

Answer: B

View Text Solution

CH ≡ CH

KOH

KOH NaNH2

KOH NaNH2

Zn/CH3OH

66. The major product obtained on treatment of  


 is .

CH3CH2CH(F )

CH3withCH3O
− /CH3OH

https://dl.doubtnut.com/l/_urz1wZL03D1R
https://dl.doubtnut.com/l/_MUA29pDUdCj3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH(OCH3)CH3

CH3CH = CHCH3

CH3CH2CH = CH2

CH3CH2CH2CH2OCH3

67. Select the formula representing the major product of the

following reaction . 

A.  .

https://dl.doubtnut.com/l/_MUA29pDUdCj3
https://dl.doubtnut.com/l/_CXHXX7GKc2JM


Methods Of Preparationof Haloarenes

B.  .

C.  .

D.  .

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CXHXX7GKc2JM


1. In the above process product  is 

 .

A. Fluorobenzene

B. Benzene

C. 1,4-difluorobenzene

D. 1,3-difluorobenzene

Answer: A

Watch Video Solution

A

https://dl.doubtnut.com/l/_qX1Qtup3brN2


2.  and  have the value of  as 1.78,1.9 and 1.3D 


respectively Which of the following could be  .

A. o-chlorotoluene

B. m-chlorotoluene

C. p-chlorotoluene

D. Data insufficient

Answer: B

Watch Video Solution

X, Y Z μ

X

3. Chlorobenzene is prepared commercially by

A. Rasching process

B. Wurtz-Fitting reaction

C. Friedel-Crafts reaction

https://dl.doubtnut.com/l/_TzNjur4I9vB5
https://dl.doubtnut.com/l/_7SevE4stKe1j


D. Grignard reaction

Answer: A

Watch Video Solution

4. Consider the following reaction 

Thyroxine a thyroid hormone that helps to regulate metabolic rate .

A. .

B. .

C. .

D. .

https://dl.doubtnut.com/l/_7SevE4stKe1j
https://dl.doubtnut.com/l/_wza1giyAldc0


Answer: D

Watch Video Solution

5.  Product In above reaction product is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H6 + CI2

UVLight

−−−−→

CC3CHO

C6H6CI6

C6H12CI6

C6H9CI2

https://dl.doubtnut.com/l/_wza1giyAldc0
https://dl.doubtnut.com/l/_8M1Kh02Mz5cm


6. Dazonium salts  the reaction is known as 


.

A. Chlorination

B. Sandmeyer s reaction

C. Parkin reaction

+Cu2CI2 + HCI →

https://dl.doubtnut.com/l/_Vy6FRd73sCnI


D. Carbylamine reaction

Answer: B

Watch Video Solution

7. m-Bromotoluene is prepared by

A. Bromination of toluene

B. Friedel Craft s reaction of bromobenzene with 

C. Bromination of nitrobenzene and subsequent replacement of

 group with methy 1group

D. Bromination of aceto -p-toluidine followed by hydrolysis and

demination .

Answer: D

Watch Video Solution

CH3CI

−NO2

https://dl.doubtnut.com/l/_Vy6FRd73sCnI
https://dl.doubtnut.com/l/_0XhZ8mILy1uR


8. Toluene reacts with excess of  in presence of sunlight to give a

product which on hydrolysis followed by reaction with  gives .

A.  .

B.  .

C.  .

D. None of these

Answer: B

Watch Video Solution

CI2

NaOH

9. Which of the following will best convert nitobenzene into 3-

fluorobromobenzene 

https://dl.doubtnut.com/l/_0XhZ8mILy1uR
https://dl.doubtnut.com/l/_fnBRHE6cBXfi
https://dl.doubtnut.com/l/_1z0obzh1Xs1x


 .

A.  .

B.  .

C.  .

D. .

Answer: D

View Text Solution

F2 /AlCl3, Zn/HCl, NaNO2 /HCl − 0∘C, CuBr

SnCl2 /HCl, Br/FeBr2, NaNO2 /HBF4 − 0∘C, heat

SnCl2 /HCl, NaNO2 /HBF4 − 0∘C, heat, Br2 /FeBr3

Br2 /FeBr3SnCl2 /HCl, NaNO2 /HBF4) ∘C, heat

10. m-Bromotoluene is prepared by

A. Bromination of toluene

https://dl.doubtnut.com/l/_1z0obzh1Xs1x
https://dl.doubtnut.com/l/_ldC0ps3fwV2P


B. Friedel Craft s reaction of bromobenzene with 

C. Bromination of nitrobenzene and subsequent replacement of

 group with methy 1group

D. Bromination of aceto -p-toluidine followed by hydrolysis and

demination .

Answer: D

Watch Video Solution

CH3CI

−NO2

11. The raction of toluene with  in presence of  gives  and

reaction in presence of light gives  Thus  and  are .

A. =Benzyl chloride, chlorotoluene

B.  Benzal chloride, -chlorotoluene

C. - Benzal chloride, -chlorotoluene

CI2 FeCI3 X

Y X Y

X Y = m −

X = Y = 0

X = m Y = p

https://dl.doubtnut.com/l/_ldC0ps3fwV2P
https://dl.doubtnut.com/l/_cX0yOO62MPDu


D. o-and p-chlorotoluene  =Trichloromethy 1 benzene .

Answer: D

Watch Video Solution

X = Y

12. Which one among the following compounds has the highest

dipole moment ? .

A. o-bromochlorobenzene

B. o-dibromobenzene

C. m-dichlorobenzene

D. o-dichlorobenzene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cX0yOO62MPDu
https://dl.doubtnut.com/l/_iqHy6htQ1BRm
https://dl.doubtnut.com/l/_KDr8DGjW3fle


13. Fluorobenzene  can be synthesized in the laboratory ,

A. By heating phenol with  and 

B. From aniline by diazotization followed by heating the

diazonium salt with  .

C. By direct fluorination of benzene with  gas

D. By reacting bromobenzene with solution .

Answer: B

Watch Video Solution

(C6H5F )

HF KF

HBF4

F2

NaF

14. The reaction of toluene with  in presence of  gives

predominantly

A. Benzoyl chloride

B. Benzylchloride

CI2 FeCI3

https://dl.doubtnut.com/l/_KDr8DGjW3fle
https://dl.doubtnut.com/l/_u1rSX04GjGur


C. o-and p-chlorotoluene

D. m-chlorotoluene

Answer: C

Watch Video Solution

15. Chlorobenzene can be prepared by reacting aniline with

A. hydrochloric acid

B. cuprous chloride

C. chlorine in presence of anhydrous aluminium chloride

D. nitrous acid followed by heating with cuprous chloride .

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_u1rSX04GjGur
https://dl.doubtnut.com/l/_FEvGkXYnvHTf
https://dl.doubtnut.com/l/_UFrO0gSR6fIa


16. The reaction of biphenyl with  in the presence of a strong

acid gives (majore)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOCI

17. The reaction of toluene with  in presence of  gives

predominantly

CI2 FeCI3

https://dl.doubtnut.com/l/_UFrO0gSR6fIa
https://dl.doubtnut.com/l/_QfDx4GbTz6su


A. Benzoyl chloride

B. m-chlorotoluene

C. Benzoyl chloride

D. o-and p-chlorotoluene

Answer: D

Watch Video Solution

18. On treatment with chlorine in presence of sunlight toluene giv. Es

the product .

A. o-chlorotoluene

B. `2,5-dichloro toluene

C. p-xchloro toluene

D. Benzyl chloride

https://dl.doubtnut.com/l/_QfDx4GbTz6su
https://dl.doubtnut.com/l/_9bN3Q4cWq4UY


Answer: D

Watch Video Solution

19. When the all-cis isomer of -

Hexachlorocyclohexane)is heated with alc  the most probable

product is .

A. 

B. 

C. 

C6H6CI6(1, 2, 3, 4, , 5, 6

KOH

https://dl.doubtnut.com/l/_9bN3Q4cWq4UY
https://dl.doubtnut.com/l/_6l8gtqZxf9xL


Chemical Properties Of Haloarenes

D. 

Answer: B

Watch Video Solution

1. An aromatic compound of molecular formula  was

nitreated then three isomers of formual  were

obtained The original compound is .

A. o-dibromobenzene

B. m-dibromobenzene

C. p-dibromobenzene

C6H4Br2

C6H3Br2NO2

https://dl.doubtnut.com/l/_6l8gtqZxf9xL
https://dl.doubtnut.com/l/_FntiD9pfkkFN


D. Both a and c

Answer: B

View Text Solution

2. Which of the following is `Wurtz-Fitting reaction?

A. 

B. 

C. 

D. none of the above

Answer: A

Watch Video Solution

C6H5I + 2Na + ICH3 → C6H5 − CH3 + 2NaI

C6H5I + Cu + IC6H5 → C6H5 − C6H5 + CuI2

CH3I + 2Na + ICH3 → CH3 − CH3 − CH3 + 2NaI

https://dl.doubtnut.com/l/_FntiD9pfkkFN
https://dl.doubtnut.com/l/_eZCUlug7Awwq


3. The best yield of given product can be obtained by using which set

of reactants  and  respectively 

 .

A. `phLi+Neopentylchloride

B. t-Bu-MgBr+Benzylbromide

C. PhMgBr+Neopenty bromide

D. Benzylchloride+t-Butylchloride

Answer: B

Watch Video Solution

A B

https://dl.doubtnut.com/l/_PYv3AgRpDvZe


4. What is the major product obtained in the following 

 .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_td64abPA8uSY


5. Aryl halides are less reactive towards nucleophilic substitution

reaction as compared to alyl halides due to

A. The formation of lass stable carbanion

B. Longer carbon halogen bond

C. The inductive effect

D. - hybridized carbon attached to the halogen

Answer: D

Watch Video Solution

sp2

6. Which will give white ppt.with  ?

A.  .

B.  .

AgNO3

https://dl.doubtnut.com/l/_fw1HoTmUi9ck
https://dl.doubtnut.com/l/_6Fac5wSOMVH6


C.  .

D. Both (a) and (c)

Answer: D

Watch Video Solution

7. What are  and  in the following reaction ? 

A. 

B. 

C. 

D. None of these

A B

https://dl.doubtnut.com/l/_6Fac5wSOMVH6
https://dl.doubtnut.com/l/_Cjs8DfEfZ0bu


Answer: B

Watch Video Solution

8. When chlorine is passed through warm benzene in presence of the

sunlight the product obtained is .

A. Benzotrichloride

B. Chlorobenzene

C. Gammexane

D. DDT

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Cjs8DfEfZ0bu
https://dl.doubtnut.com/l/_ztMuKRsAuAqc


9. Complete the following reaction

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_2ZT0JJfy2Wwl


Answer: A

Watch Video Solution

10. Chlorobenzene is .

A. Less reactive than benzyl chloride

B. More reactive than ethyl bromide

C. Nearly as reactive as methyl chloride

D. More reactive than isopropy chloride

Answer: A

Watch Video Solution

11. In presence of  benzene and n-propyl bromide react in

Friedel-Crafts reaction to from .

AICI3

https://dl.doubtnut.com/l/_2ZT0JJfy2Wwl
https://dl.doubtnut.com/l/_sT0szJLiXtPC
https://dl.doubtnut.com/l/_7MOxZPoLPSMd


A. n-propyl benzene

B. 1,2dinormal propyl benzene

C. 1,4dinormal propyl benzene

D. Isopropylbenzene

Answer: D

Watch Video Solution

12. What is product of the following reaction 

A. 

https://dl.doubtnut.com/l/_7MOxZPoLPSMd
https://dl.doubtnut.com/l/_m69Fcx5sZAxO


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

13. Chlorobenzene on fusing with solid  gives

A. Benzene

B. Benzoic acid

C. Phenol

D. Benzene chloride

Answer: C

NaOH

https://dl.doubtnut.com/l/_m69Fcx5sZAxO
https://dl.doubtnut.com/l/_LzTn2BKs1ump


Watch Video Solution

14. Following equation illustrates 

A. Dow's process

B. Kolbe's process

C. Carbylamine test

D. Haloform reaction

Answer: A

Watch Video Solution

C6H5CI + 2NaOH
200 − 250 ∘C
−−−−−−→

200atm
C6H5ONa + NaCI + H2O

15. Aryl halides are less reactive towards nucleophilic substitution

because

https://dl.doubtnut.com/l/_LzTn2BKs1ump
https://dl.doubtnut.com/l/_wPEDo6BmLP7x
https://dl.doubtnut.com/l/_A9VaK9VXnVJI


A. Less stable carbonium ion

B. Due to large  bond energy

C. Inductive effect

D. Resonance stabilization and -hybridisation of  attached to

halide .

Answer: D

View Text Solution

C − CI

sp2 C

16. Which of the following reaction does not take place ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_A9VaK9VXnVJI
https://dl.doubtnut.com/l/_MSNoSDC9o0mz


D. 

Answer: A

View Text Solution

17. Which of the following procedures would be best for achieving

the following reaction

A. I  in  and heat, ii  iii  and heat

B.  and heat ii  iii  and 

C. I  in  and heat ii  and heat iii  and 

NBS CCI4 NaNO2 KMnO4

KMnO4 Br2 + FeBr3 HNO3 H2SO4

NBS CCI4 KMnO4 HNO3

H2SO4

https://dl.doubtnut.com/l/_MSNoSDC9o0mz
https://dl.doubtnut.com/l/_MfHu20tiHw7z


D. KMnO_(4) HNO_(3)

H_(2)SO_(4)` .

Answer: D

View Text Solution

Br2 + FeBr3(ii) and heat(iii) and

18. Replacement of  of chlorobenzene to give pheno1 require

drastic conditions but chlorine of `2 4-dinitrochlorobenzene is readily

replaced because .

A.  make ring electron rich at ortho and para

B.  withdraws bare from meta position

C. denotes bare at meta position

D.  withdraws bare from ortho para positions

Answer: D

h id l i

CI

NO2

NO2

NO2 /

https://dl.doubtnut.com/l/_MfHu20tiHw7z
https://dl.doubtnut.com/l/_l9Dus9xK1ifH


Watch Video Solution

19. What term describes the reactive intermediate formed in the

following reaction p-bromotoluene

 in a ration  para

isomer  meta isomer

A. Ary radical

B. Benzyne formation

C. Sigma complex

D. Benzo cation

Answer: B

Watch Video Solution

NaNH2, NH3 − 33∘C → CH3(C6H4)NH2 50 %

50 %

20. 1,2 di bromo cyclohexane on dehydrohalogenation gives

https://dl.doubtnut.com/l/_l9Dus9xK1ifH
https://dl.doubtnut.com/l/_tVfjuBIA063M
https://dl.doubtnut.com/l/_aC2Rdx4L4GAZ


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

21. The increasing  is prepared by heating chorobenzene with

chloral  in the presence of once sulphuric acid Which of

the following compounds is  ?

DDT

(CCI3CHO)

DDT

https://dl.doubtnut.com/l/_aC2Rdx4L4GAZ
https://dl.doubtnut.com/l/_FfSDdCO6z5A6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

22. In the conversion of p-nitrofluoro benzene to p-nitroanisole

intermediate  is involved The true statements about the

intermediate  is /are 


(i) the intermediate is aromatic (ii) the intermediate is resonance

stabilized anion (iii) electron withdrawing group on the benzene ring

stabilize the intermediate .

X

X

https://dl.doubtnut.com/l/_FfSDdCO6z5A6
https://dl.doubtnut.com/l/_lOdH367HWh8L


A. IIandIII

B. OnlyII

C. I andIII

D. OnlyI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lOdH367HWh8L


23. Select the correct statement about  and  

 .

A. B is optically active but  does not

B. A is optically active but  does not

C. Both  and  are optically active because of the presence of

chiral centres

A B

A

B

A B

https://dl.doubtnut.com/l/_QIyLAaVgPTFN


D. Both  and  are optically inactive because of the presence of

vertical plane of symmetry

Answer: A

View Text Solution

A B

24. Which of the following sets of reagents used in the order shown

would enable the preparation of p-iodophenol from p-

iodonotrobenzene ? .

A. 1.

B. 

C.  ethanol

D.  ,heat

Answer: D

h id l i

Fe, HCl, 2, NaOH, 3. NaNO2, H2SO4, 4. H3PO2

1. NaOHheat, 2HCl

1. FeHCl, 2. NaOH, 3. NaNO2, H2SO4, 4

1. Fe, HCl, 2. NaOH, 3NaNO2, H2SO4, 4. H2O

https://dl.doubtnut.com/l/_QIyLAaVgPTFN
https://dl.doubtnut.com/l/_Y2ZudZze4Qzl


Watch Video Solution

25. Bottles containing  and  lost their original

lables. They were labelled A and B for festing. A and B were separately

taken in a test tube and boiled with  solution. The end

solution in each tube was made acidic with dilute  and then

some  solution was added. Substance B gave a yellow

precipitate. Which one of the following statements is true for this

experiment.

A.  was 

B. Addition of  was unnecessary

C. A was 

D. A was 

Answer: C

Watch Video Solution

C6H5I C6H5 − CH2I

NaOH

HNO3

AgNO3

B C6H5I

HNO3

C6H5I

C6H5CH2I

https://dl.doubtnut.com/l/_Y2ZudZze4Qzl
https://dl.doubtnut.com/l/_0nzbd39Qy8tX


26. The reaction of chloroform with alcoholic  and p- toluidine

forms

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KOH

27. The compound formed on heating chlorobenzene with chloral in

presence of conc  is .

A. Hexachloroethane

H2SO4

https://dl.doubtnut.com/l/_0nzbd39Qy8tX
https://dl.doubtnut.com/l/_6xTsXl8BuYUJ
https://dl.doubtnut.com/l/_n3jS6IJk3Pb1


B. DDT

C. Freon

D. Gammexane

Answer: D

Watch Video Solution

28. Compund  Br gives a white precipitate when warmed

with alcoholic  Oxidation of (A) gives an acid (B)  (B)

easily anhydride on heating Identify the compound (A) .

A. 

B. 

(A)C8H9

AgNO3 C8H6O4

https://dl.doubtnut.com/l/_n3jS6IJk3Pb1
https://dl.doubtnut.com/l/_9rjspr5r9TI2


C. 

D. 

Answer: D

Watch Video Solution

29. In the reaction of p-chlorotoluene with  is liguid  the

major product is .

A. o-Toluidine

B. m-Toluidine

C. p-Toluidine

KNH2 NH3

https://dl.doubtnut.com/l/_9rjspr5r9TI2
https://dl.doubtnut.com/l/_JAqRDa1hJ3AH


D. p-Chloroaniline

Answer: B

Watch Video Solution

30. When phenyl magnesium bromide reacts with  the

product would be :

A. Benzene

B. Pheno1

C. tert-butylbenzene

D. tert-butylphenylether

Answer: A

Watch Video Solution

t − bu tan ol

https://dl.doubtnut.com/l/_JAqRDa1hJ3AH
https://dl.doubtnut.com/l/_MTmr000TbtCb
https://dl.doubtnut.com/l/_fCJb9UBjtlMK


Section B Assertion Reasoning

31. The reaction is 

 .

A. 

B. 

C. Nucleophilic substitution via benzyne formation

D. None of these

Answer: C

Watch Video Solution

ArSN1

ArSN2

https://dl.doubtnut.com/l/_fCJb9UBjtlMK


1. Assertion:  on treating with  does not show

replacement of  atom by  


Reason: The resonance in chlorobenzene stabilizen the molecule .

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

C6H5CI NaOH

CI OH

https://dl.doubtnut.com/l/_j6PdyiiB7byN


2. Assertion:of tert butylchloride with Na gives -tetramethy

butane 

Reason Tert butyl chloride on Wurtz reaction gives alkene.

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: D

Watch Video Solution

2, 2, 3, 3

https://dl.doubtnut.com/l/_bFqjWomfGuUC


3. Assertion The p - isomer of dichlorobenzene has higher m.p than o-

and m isomer 

Reason p-isomer is symmetrical and thus shows more closely packed

structure .

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_29xIqKXzItYO


4. Assertion: n-butyl chloride has lower b.p than n-butyl bromide 

Reason The b.p inceases with increase in molar mass .

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

5. Assertion: RI is more reactive than  towarde  reaction 


Reason: The rate of reaction for  or  mechanism is 

RCI SN

SN1 SN2

https://dl.doubtnut.com/l/_SgYOzVnCDHRF
https://dl.doubtnut.com/l/_X5CNabTZNmLj


 .

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

RI > RCI

6. Assertion:  is a specific reagent for allylic bromination 


Reason: Allylic bromination oC Curs through free radical

intermediates .

NBS

https://dl.doubtnut.com/l/_X5CNabTZNmLj
https://dl.doubtnut.com/l/_4o93byqyBfSh


A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: B

View Text Solution

7. Assertion: n- Buty chloride has higher boiling point than n-butyl

bromide 

Reason  bond is more polar than  bond .

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

C − CI C − Br

https://dl.doubtnut.com/l/_4o93byqyBfSh
https://dl.doubtnut.com/l/_q9HGNTzJu2Hd


B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: D

Watch Video Solution

8. Assertion:  


Reason:  is an ambident ion .

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

CH3Br + AgCN → CH3NC + AgBr

CN

https://dl.doubtnut.com/l/_q9HGNTzJu2Hd
https://dl.doubtnut.com/l/_GKoNHExbqnpe


C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: B

Watch Video Solution

9. Statement-I: Nucleophilic substitution reaction on an optically

active alkyl halide gives a mixture of enantiomers. 

Because Statement-II: The reaction occurs by  mechanism.

A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

SN 1

https://dl.doubtnut.com/l/_GKoNHExbqnpe
https://dl.doubtnut.com/l/_I4sspvWxhwJe


Answer: C

Watch Video Solution

10. Assertion  Butene ono reaction with  in the presence of

a peroxide produces bromo butane 


Reason  It involves the free radical mechanism.

Watch Video Solution

: 1 − HBr

1 − −

:

11. Assertion: p-Dichlorobenzene is less soluble in organic solvents

than the corresponding o-isomer 

Reason o-Dichlorobenzene is polar while p-dichlorobenzene is non-

polar .

Watch Video Solution

https://dl.doubtnut.com/l/_I4sspvWxhwJe
https://dl.doubtnut.com/l/_gDNIhADZ18PC
https://dl.doubtnut.com/l/_6vKdfG5vjWbh


12. Assertion: in comparison to ethyl chloride it is difficult to carry

out nucleophilic on vinyl chloride

Reason: Vinyl group is electron-donating .

Watch Video Solution

13. Assertion:  reactions proceed with inversion of configuration 


Reason:  reactions oC Cur in one step .

Watch Video Solution

SN2

SN2

14. Assertion: Benzyl bromide when kept in acetone water produces

benzyl alcohol. 

Reason: The reaction follows  mechanism.

Watch Video Solution

SN2

https://dl.doubtnut.com/l/_p47NMVqFlP8v
https://dl.doubtnut.com/l/_9Q5hVHQG793t
https://dl.doubtnut.com/l/_SdHG17dF5Zi3
https://dl.doubtnut.com/l/_i9kQveJaC9eG


Aipmt Neet Questions

15. Assertion: Alkyl iodide can be prepared by treating alkyi

chloride//bromide with NaI in acetone 

Reason NaCI//NaBr are souluble in acetone while NaI is not .

Watch Video Solution

16. Assertion: In the  elimination  and leaving group should

be antiperiplanar 

Reason In the  elimination base always abstracts unhindered 

.

View Text Solution

E2 β − H

E2

β − H

1. 2-chlorobutane obtained by chlorination of butane will be .

https://dl.doubtnut.com/l/_i9kQveJaC9eG
https://dl.doubtnut.com/l/_B6yBP6AYDlxQ
https://dl.doubtnut.com/l/_YEHTDT9nNKnk


A. meso -form

B. d-form

C. recemic form

D. l-form

Answer: C

Watch Video Solution

2. Phenol reacts with  and  (at 340K) to give .

A. o-chlorophenol

B. salicyladehyde

C. benzaldehyde

D. chlorobenzene

Answer: B

CHCI3 NaOH

https://dl.doubtnut.com/l/_YEHTDT9nNKnk
https://dl.doubtnut.com/l/_nQuT29OW5L8l


Watch Video Solution

3. Chloropicrin os obtained by the reaction of

A. chlorine on picric acid

B. nitricacid on chloroform

C. steam on carbon tetrahloride

D. nitric acid on chlorobenzene

Answer: B

Watch Video Solution

4. Chloroform when kept open is oxidised to substitition reaction ?

A. 

B. 

O2

COCI2, HCI

https://dl.doubtnut.com/l/_nQuT29OW5L8l
https://dl.doubtnut.com/l/_QtpKKTE90j80
https://dl.doubtnut.com/l/_QVEP8bgcRitN


C. 

D. none of the

Answer: B

Watch Video Solution

O2, C2

5. Which of the following is lest reactive in a nucleophilic .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(CH3)3CCI

CH2 = CHCI

CH3CH2CI

CH2 = CHCH2CI

https://dl.doubtnut.com/l/_QVEP8bgcRitN
https://dl.doubtnut.com/l/_CmVpSriR2sT1
https://dl.doubtnut.com/l/_yCNd3fGElXRD


6. Trichloroacetaldehyde,  reacts with chlorobenzene in

presence of sulphuric acid and produces.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl3CHO

7. Which one is most reactive towards  reactions ?

A. 

SN1

C6H5CH(C6H5)Br

https://dl.doubtnut.com/l/_yCNd3fGElXRD
https://dl.doubtnut.com/l/_dI7NAtlQwpLC


B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5CH(CH3)Br

C6H5C(CH3)(C6H5)Br

C6H5CH2Br

8. In the following reaction 

, the pr oduct 'X' is` .

A. 

B. 

C. 

D. 

Answer: C

C6H5CH2Br
1 .  Mg.Ether
−−−−−−−→

2 .H3O
X

C6H5CH2OCH2C6H5

C6H5CH2OH

C6H5CH3

C6H5CH2CH2C6H5

https://dl.doubtnut.com/l/_dI7NAtlQwpLC
https://dl.doubtnut.com/l/_t6jEcKR8WIQp


Watch Video Solution

9. Following compounds are given 

(i)  


(ii)  


 


 


Which of the above compound (s) on being warmed with iodine

solution and `NaOH will give iodofrom ?

A. (i),(iii)and(iv)

B. Only(ii)

C. (i),(ii) and(iii)

D. (i)and(iii)

Answer: C

Watch Video Solution

CH3CH2OH

CH3COCH3

CH3 − CHOH
∣

CH3

C6H5CH2CH2C6H5

https://dl.doubtnut.com/l/_t6jEcKR8WIQp
https://dl.doubtnut.com/l/_eIrAYQFbYEkx


10. In the following sequence of reaction 

 


the end product is .

A. acetaldehyde

B. ethylalcohol

C. acetone

D. methane

Answer: B

Watch Video Solution

CH3 − Br
KCN
−−→ A

H3O+
−−−→ B

LiAIH4

−−−−→
Ether

C

11. What products are formed when the following compounds are

treated with  in the presence of  ? 
Br2 FeBr3

https://dl.doubtnut.com/l/_eIrAYQFbYEkx
https://dl.doubtnut.com/l/_LOtSyMdPjs67
https://dl.doubtnut.com/l/_c3MITJwaf4qy


A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_c3MITJwaf4qy


Watch Video Solution

12. In an  reation on chiral centers there is .

A.  retention

B.  inversion

C.  recemization

D. inversion more than retention leading to partial racemization .

Answer: C

Watch Video Solution

SN1

100 %

100 %

100 %

13. Which of the following reaction  can be used for the

preparation of alkyl halides? 

(I)  


(II)  


(s)

CH3CH2OH + HCl
anhy .ZnCl2

−−−−−−→

CH3CH2OH + HCl →

https://dl.doubtnut.com/l/_c3MITJwaf4qy
https://dl.doubtnut.com/l/_9uLPatoCFbvj
https://dl.doubtnut.com/l/_AnqeISy9W94l


(III)  


(IV) 

A. (IV)only

B. (III) and (IV)only

C. (I)and (IV)only

D. (I)and (II)only

Answer: C

Watch Video Solution

(CH3)3COH + HCl →

(CH3)2CHOH + HCl
anhy .ZnCl2

−−−−−−→

14. The compound  undergoes the following reactions : 


 


The product 'C' is

Watch Video Solution

C7H8

C7H8

3Cl2 / Δ
−−−−→ A

Br2 /Fe
−−−−→ B

Zn/HCl

−−−−→ C

https://dl.doubtnut.com/l/_AnqeISy9W94l
https://dl.doubtnut.com/l/_rY6NgPwd5paP


Aiims Questions

1.  is an example of which of the

following types of reactions ?

A. Substitution

B. Elimination

C. Addition

D. Rearrangement

Answer: A

Watch Video Solution

C3H8 + CI2

Light

−−→ C3H7CI + HCI

2. When ethyl alcohol and  reacted in presence of  yellow

crystals of …are formed ? .

KI NaaCO3

https://dl.doubtnut.com/l/_ofKovXFofaGj
https://dl.doubtnut.com/l/_rzTclvNjgHgu


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CHI3

CH3I

CH2I2

C2H5I

3. Diethyl ether on heating with conc. HI gives two moles of:

A. Ethanol

B. Iodofrom

C. Ethyl iodide

D. Methyl iodide

Answer: C

https://dl.doubtnut.com/l/_rzTclvNjgHgu
https://dl.doubtnut.com/l/_LRl7mFnOsynh


Watch Video Solution

4. Acetone is mixed with bleaching powder to give

A. chloroform

B. Acetaldehyde

C. ethano1

D. phosgene

Answer: A

Watch Video Solution

5. The product formed on reation of ethyl alcohol with bleaching

powder is .

A. CHCI3

https://dl.doubtnut.com/l/_LRl7mFnOsynh
https://dl.doubtnut.com/l/_qUGiBbTEggvc
https://dl.doubtnut.com/l/_nqyEFGdluRBL


B. 

C. 

D. 

Answer: A

Watch Video Solution

CCI3CHO

CH3COCH3

CH3CHO

6. Treatment of ammonia with excess of ethyl chloride will yield

A. Diethyl amine

B. ethane

C. Tetraethyl ammonium chloride

D. methyl amine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nqyEFGdluRBL
https://dl.doubtnut.com/l/_PsZLalchxiFz


7. The bad smelling substance formed by the action of alcoholic

caustic potash on chloroform and aniline is .

A. phenyl isocyanide

B. nitrobenzene

C. phenyl cyanide

D. phenyl isocyanate

Answer: A

Watch Video Solution

8. 1-chlorobutane reacts with alcoholic  to from

A. 1-butane

B. 2-butane

KOH

https://dl.doubtnut.com/l/_PsZLalchxiFz
https://dl.doubtnut.com/l/_G63mkjNgSGWk
https://dl.doubtnut.com/l/_HlqdbMOnJJ9i


C. 1-butano1

D. 2-butano1

Answer: A

Watch Video Solution

9. When chloroform is exposed to air and sunlight it gives

A. carbon tetrachloride

B. carbonyl chloride

C. mustard gas

D. lewsite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HlqdbMOnJJ9i
https://dl.doubtnut.com/l/_1vE9VrzF4Xs9
https://dl.doubtnut.com/l/_MkxIV4s8RV2t


10. When chloroform is treated with conc  it gives

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

HNO3

CHCI2NO2

CCI3NO2

CHCI2HNO3

11. A sample of chloroform being used as anaesthetic is tested by .

A. Fehling solution

B. Ammoniacal 

C.  solution

D.  solution after boiling with alcoholic  solution .

CU2CI2

AgNO3

AgNO3 KOH

https://dl.doubtnut.com/l/_MkxIV4s8RV2t
https://dl.doubtnut.com/l/_lPPMVG3nQkgS


Answer: C::D

Watch Video Solution

12.  on treatment with alcoholic  yields .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H6CI6 KOH

C6H6

C6H3CI3

(C6H6)OH

C6H6CI4

13. Among the following, one which reacts most readily with ethanol

is

https://dl.doubtnut.com/l/_lPPMVG3nQkgS
https://dl.doubtnut.com/l/_dCgK6t6hRIAF
https://dl.doubtnut.com/l/_zJ9n4ukztVZH


A. p-nitrobenzyl bromie

B. p-chlorobenzyl bromide

C. p-methyoxybenzyl bromide

D. p-methylbenzyl bromide

Answer: C

Watch Video Solution

14. The major product formed in the reaction is: 

A. 

B. 

C. 

CH3 −

CH3

∣

C
∣

H

− CH2Br
CH3O

Ө

−−−−→
CH3OH

CH3 −

CH3

∣

C
∣

H

− CH2OCH3

CH3 − CH
∣

OCH3

− CH2 − CH3

CH3 −

CH3

∣

C = CH2

https://dl.doubtnut.com/l/_zJ9n4ukztVZH
https://dl.doubtnut.com/l/_DPXCLKMKeXaO


D. 

Answer: D

Watch Video Solution

CH3 −

CH3

∣

C
∣

OCH3

− CH3

15. The major product obtained on treatment of  


 is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH(F )

CH3withCH3O
− /CH3OH

CH3CHCH(OCH3)CH3

CH3CH = CHCH3

CH3CH2CH = CH2

CH3CH2CH2CH2OCH3

https://dl.doubtnut.com/l/_DPXCLKMKeXaO
https://dl.doubtnut.com/l/_DdCTmXalLfgu


16. Which of the following is liquid at room temperature

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3I

CH3Br

CH3CI

CH3F

17. Which one of the following is the correct formula of

dichlorodipheyl trichloroethane ? .

A. 

https://dl.doubtnut.com/l/_Mn8etbnyIxh1
https://dl.doubtnut.com/l/_48bZ18pB2NZF


B. 

C. 

D. 

Answer: A

Watch Video Solution

18. Which of the following is used in fire extinguishersb ?

A. 

B. 

C. 

CH4

CHCI3

CH2CI2

https://dl.doubtnut.com/l/_48bZ18pB2NZF
https://dl.doubtnut.com/l/_NX7HAuyj9Ypa


D. 

Answer: D

Watch Video Solution

CCI4

19. Which of the following is an anaesthetic

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H4

CHCI3

CH3CI

C2H5OH

https://dl.doubtnut.com/l/_NX7HAuyj9Ypa
https://dl.doubtnut.com/l/_cZ4PZdUp2yDN


20. Among the following the most reactive alcoholic  is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KOH

CH2 = CHBr

CH3COCH2CH2Br

CH3CH2Br

CH3CH2CH2Br

21. Which of the following reactions will yield dibromopropane

?

A. 

B. 

C. 

2, 2 −

HC = CH + 2HBr →

CH3 − C = CH + 2HBr →

CH3 − CH = CH2 + HBr →

https://dl.doubtnut.com/l/_y8i1OuTxHsVs
https://dl.doubtnut.com/l/_S8lcrBO46OWZ


D. 

Answer: B

Watch Video Solution

CH3 − CH = CH − BrHBr →

22.  reation is faster in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SN 1

CH3CH2CI

CH3 −

CH3

∣

C
∣

CH3

− CI

CH − CH
∣

CH2

∣

CH3

− CI

https://dl.doubtnut.com/l/_S8lcrBO46OWZ
https://dl.doubtnut.com/l/_LXRwh9tdlezL


23.  -2-Iodobutane is treated with Nal in acetone and allowed to

staned to stand for a long time The product eventually fromed is .

A. -2-idobutane

B. -2-idobutane

C. -2-idobutane

D. 2-idobutane

Answer: B

Watch Video Solution

(R)

(R)

(S)

( ± )

( ± ) −

24. Decreasing order of reactivity in Williamson synthesis orf the

following . 

 


 


Me3CCH2Br

CH3CH2CH2Br

https://dl.doubtnut.com/l/_LXRwh9tdlezL
https://dl.doubtnut.com/l/_E3D8V0PuOM6Y
https://dl.doubtnut.com/l/_moraVeOC1pMA


 


 .

A. IIIgtIIgtIVgtI

B. IgtIIgtIVgtIII

C. IIgtIIIgtIVgtI

D. IgtIIIgtIIgtIV

Answer: A

Watch Video Solution

CH2 = CHCH2CI

CH3CH2CH2CI

25. Complete the following reaction

https://dl.doubtnut.com/l/_moraVeOC1pMA
https://dl.doubtnut.com/l/_RzZ5s3vB8Q37


Assertion Reasoning Questions

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1. Assertion: Bromobenzene upon reaction with  gives 1,4-

dibromobenzene as the major product 

Br2 /Fe

https://dl.doubtnut.com/l/_RzZ5s3vB8Q37
https://dl.doubtnut.com/l/_MSnI86VMTRlI


Reason In bromobenzene the inductive effect of the bromo group is

more dominant than the mesomeric effect in directing the incoming

electrophile .

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If the assertion is true but reason is false

D. If assertion is false but reason is true .

Answer: C

Watch Video Solution

2. Assertion: and  are immiscible . 


Reason :  is a polar solvent.

CCl4 H2O

CCl4

https://dl.doubtnut.com/l/_MSnI86VMTRlI
https://dl.doubtnut.com/l/_WNM4o4ya341L


A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If the assertion is true but reason is false

D. If assertion is false but reason is true .

Answer: C

Watch Video Solution

3. Assertion: Styrence on reaction with  gives 1-bromo-1-

phenylethane . 

Reason: Benzyl radical is more stable than alkyl redical .

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

HBr

https://dl.doubtnut.com/l/_WNM4o4ya341L
https://dl.doubtnut.com/l/_PWLM7rC7QJuc


B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If the assertion is true but reason is false

D. If assertion is false but reason is true .

Answer: C

Watch Video Solution

4. Assertion: Aryl undergoes nucleophilic substitution with ease 

Reason The carbon halogen bond in aryl halides has partial double

bond character .

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

https://dl.doubtnut.com/l/_PWLM7rC7QJuc
https://dl.doubtnut.com/l/_ZqVw9hhFw3RL


C. If the assertion is true but reason is true

D. If assertion is false but reason is true .

Answer: D

Watch Video Solution

5. Assertion:  gives a precipitate with  solution on

heating but  not 


Reason: C-1 bond is quite weak as compound to  bond .

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If the assertion is true but reason is true

D. If assertion is false but reason is true .

CHI3 AgNO3

CHCI3

C − CI

https://dl.doubtnut.com/l/_ZqVw9hhFw3RL
https://dl.doubtnut.com/l/_5OZFTxtRduVa


Answer: A

Watch Video Solution

6. Assertion: The reactivity order for  reation is 

 


Reason: More is the stability of carbocation more readily moment

than cis 2-chloro propene . 

Reason: More is stability of carbocation more readily it is formed .

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If the assertion is true but reason is true

D. If assertion is false but reason is true .

SN1

Ar3CX > Ar2CHX > ArCH2X

https://dl.doubtnut.com/l/_5OZFTxtRduVa
https://dl.doubtnut.com/l/_0LiRfBv0Zhn5


Answer: A

Watch Video Solution

7. Assertion: Trans-2-chloro propene has higher dipole moment than

cis-2- chloro propene 

Reason The resultant vectore sum of all the vectors in trans-2-chloro

propene is more than cis-2-chloro propene .

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If the assertion is true but reason is true

D. If assertion is false but reason is true .

Answer: A

https://dl.doubtnut.com/l/_0LiRfBv0Zhn5
https://dl.doubtnut.com/l/_kJYP9C9QrxaD


Watch Video Solution

8. Assertion (A): Iodine is more soluble in  than in water. 


Reason(R ): Non-polar solutes are more soluble in non-polar solvents.

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If the assertion is true but reason is true

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

CCl4

https://dl.doubtnut.com/l/_kJYP9C9QrxaD
https://dl.doubtnut.com/l/_1Yx0oJcVgAM1


Section D Chapter End Test

9. Chlorination of allylic hydrogen is difficult than vinylic hydrogen. 

Allyl radical is stabilished by resonance.

A. If the the assertion and reason are true and reason is a true

explanation of the assertion .

B. If both assertion and reason are true but reason is the correct

explanation of the assertion .

C. If the assertion is true but reason is true

D. If assertion is false but reason is true .

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2J2yk0YEE9dF


1. The producet of the reaction of alcoholic silver nitrite with ethyl

bromide is :

A. Nitroethane

B. Nitroethane and ethyl nitrite

C. Ethylnitrite

D. Ethane

Answer: A

Watch Video Solution

2. Among the following, the molecule with the highest dipole

moment is :

A. 

B. 

CH3CI

CH2CI2

https://dl.doubtnut.com/l/_dUzHwsUowSor
https://dl.doubtnut.com/l/_cphDwo1s1U3L


C. 

D. 

Answer: A

Watch Video Solution

CHCI3

CC4

3. An organic halide is shaken with aqueous NaOH followed by the

addition of dil  and silver nit rate solution gave white ppt The

substane can be .

A. 

B. 

C. 

D. None of these

Answer: B

h id l i

HNO3

C6H4(CH3)Br

C6H5CH2CI

C6H5CI

https://dl.doubtnut.com/l/_cphDwo1s1U3L
https://dl.doubtnut.com/l/_0nO2UQAtOxoW


Watch Video Solution

4. When CHCI_(3) is boiled with  It gives .

A. Formic acid

B. Trihydroxy methane

C. Acetylene

D. Sodium formate

Answer: B

Watch Video Solution

NaOH

5. The hybridization state of carbon atoms in the product formed by

the reactions of ethyl chloride with aqueous potassium hydroxide is .

A. sp

https://dl.doubtnut.com/l/_0nO2UQAtOxoW
https://dl.doubtnut.com/l/_7Pn2iMhg51wV
https://dl.doubtnut.com/l/_TjIfgvQJNSyq


B. 

C. 

D. 

Answer: C

Watch Video Solution

sp2

sp3

sp3d

6. Which of the following compounds does not undergo nucleophilic

substitution reactions ?

A. Vinyl chloride

B. Ethyl bromide

C. Benzyl chloride

D. Isopropyl chloride

Answer: A

https://dl.doubtnut.com/l/_TjIfgvQJNSyq
https://dl.doubtnut.com/l/_OejMRZfDTgMk


Watch Video Solution

7. Replacement of  of chlorobenzene to give phenol require drastic

conditions but chlorine of -dinitrochlorobenzene is readily

replaced because .

A.  make ring electron rich at ortho and para

B.  withdraw  density from meta position

C. donates  density at meta position

D.  withdraws  density from ortho /para positions

Answer: D

Watch Video Solution

Cl

2, 4

NO2

NO2 e−

e−

NO2 e−

8. Among the following one with the highest percentage of chlorin is

.

https://dl.doubtnut.com/l/_OejMRZfDTgMk
https://dl.doubtnut.com/l/_r8J92qhUDvDe
https://dl.doubtnut.com/l/_QrjMVgUv4U2k


A. Chloral

B. Pyrene

C. PVC

D. Gammexene

Answer: B

Watch Video Solution

9. 2-bromopentane is heated with postassium ethoxide in ethano1

The major product obtained is .

A. Pentence -1

B. cis pentence -2

C. trans pentene-2

D. 2-ethoxypentane

https://dl.doubtnut.com/l/_QrjMVgUv4U2k
https://dl.doubtnut.com/l/_wFSRUrSDX47W


Answer: C

Watch Video Solution

10. In which alkyl halide  mechanism is favoured maximum

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN 2

CH3CI

CH3CH2CI

(CH3)2CHCI

(CH3)3C − CI

11. Which conformation of  is most powerful insecticide ?C6H6CI6

https://dl.doubtnut.com/l/_wFSRUrSDX47W
https://dl.doubtnut.com/l/_jD1tTkS7KdOs
https://dl.doubtnut.com/l/_w1BzqCqSh92W


A. aaeeee

B. aaaeee

C. aaaaee

D. aaaaaa

Answer: B

View Text Solution

12. The odd decomposition of carbon chlorine bond from

A. Two free ions

B. Two-carbonuim ion

C. Two carbanion

D. A cation and anion

Answer: D

https://dl.doubtnut.com/l/_w1BzqCqSh92W
https://dl.doubtnut.com/l/_c1QY3hGIkflw


Watch Video Solution

13. Which of the following statements about benzyl chloride is

incorrect ?

A. It is less reactive than alkyl halides

B. It can be oxidised to benzaldehyde by boiling with copper

nitrate solution .

C. It is a lachrymatory liquid and answers Beilstein s test

D. It gives a white precipitate with alcoholic silver nitrate

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_c1QY3hGIkflw
https://dl.doubtnut.com/l/_8E4ewq9UPsO3


14. An isomer of  on boiling with aqueous  gives

acetone Hence the isomer is

A. 2,2-dichloropropane

B. 1,2-dichloropropane

C. 1,1-dichloropropane

D. 1,3-dichloropropane

Answer: A

Watch Video Solution

C3H6CI2 KOH

15. Which of the following is the example of  reaction

A. 

B. 

SN 2

CH3Br + OH − − CH3OH + Br¯

CH3C
∣

Br

HCH3 + OH − → CH3C
∣

Br

CH3 + Br−

https://dl.doubtnut.com/l/_131c4D30UqhD
https://dl.doubtnut.com/l/_Jkt7DXhegZnJ


C. 

D. 

Answer: A

Watch Video Solution

CH3CH2OH
−H2O
−−−→ CH2 = CH2

CH3 −

CH3

∣

C
∣

Br

− CH3 + OHbat → CH3 −

CH3

∣

C
∣

Br

− O − CH3 + Br¯

16. Wurtz reaction of methyl iodide yields an organic compound 

Which one of the following reactions also yields  .

A. 

B. 

C. 

D. 

Answer: B

X

X

C2H5CI + Mg
dryether
−−−−→

C2H5Cl + LiAlH4 →

C2H5CI + C2H5ONa →

CHCI3

Ag powder
−−−−−→

Δ

https://dl.doubtnut.com/l/_Jkt7DXhegZnJ
https://dl.doubtnut.com/l/_qVbHsQm4OGwf


Watch Video Solution

17. Ethyl orthoformate is formed by heating with sodium ethoxide .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CHCI3

C2H5OH

HCOOH

CH3CHO

18. Freon (dichlorodifluoro methane) is used .

A. As local anaesthetic

B. For dissolving impurities in metallurgical process .

https://dl.doubtnut.com/l/_qVbHsQm4OGwf
https://dl.doubtnut.com/l/_QDIHUbp1v82t
https://dl.doubtnut.com/l/_x5FjH64wX28I


C. In refrigerator

D. In printing industry

Answer: C

Watch Video Solution

19. Treatment of ammonia with excess of ethyl chloride will yield

A. Diethyl amine

B. Ethane

C. Tetraethyl ammonium chloride

D. Methyl mine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_x5FjH64wX28I
https://dl.doubtnut.com/l/_P8KVVmCzX3jF
https://dl.doubtnut.com/l/_W5Dk781r55nq


20. On treating a mixture of two alkyl halides with sodium metal in

dry ether, -methylpropane was obtained. The alkyl halides are

A. 2-chloropropane and chloromethane

B. 2-chloropropane and chloromethane

C. Chloromethane and chloromethane

D. Chloromethane and 1- chloromethane

Answer: A

Watch Video Solution

2

21. When but  reacts with  , we get

A. 3-bromobut-1-ene

B. 1-bromobut-2-ene

C. A mixture of both a and b

−3 − en − 2 − ol aqHBr

https://dl.doubtnut.com/l/_W5Dk781r55nq
https://dl.doubtnut.com/l/_4OUAv4hmCae1


D. 2-bromobut-2-ene

Answer: C

Watch Video Solution

22. Which of these do not from Grignard reagent ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3F

CH3CI

CH3Br

CH3I

https://dl.doubtnut.com/l/_4OUAv4hmCae1
https://dl.doubtnut.com/l/_F5ilhcDqTP9J


23. An organic compound  on reation withNa/diethyl

ether gives a hydrocarbon which on monochlorination gives only one

chloro derivative  is .

A. t-butyl chloride

B. s-butyl chloride

C. Isobutyl chloride

D. n-butyl chloride

Answer: A

Watch Video Solution

A(C4H6CI)

A

24. Among the following the most reactive alcoholic  is .

A. 

B. 

KOH

CH3 − CI

CH3 − CH2 − CI

https://dl.doubtnut.com/l/_xK5YwaKI3HNu
https://dl.doubtnut.com/l/_N0DdsGKTk3UX


C. 

D. 

Answer: D

Watch Video Solution

CH3CH2Br

CH3CH2CH2Br

25. Which of the following possess highest m.pt .

A. Chlorobenzene

B. o-dibromobenzene

C. m-dibromobenzene

D. p-dibromobenzene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_N0DdsGKTk3UX
https://dl.doubtnut.com/l/_XugfEkzkkKsH
https://dl.doubtnut.com/l/_r049n8sD82H7


26. Which chlorine atom is more electronegative in the following ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − Cl

CH3 − CH2 − Cl

H −

CH3

∣

C
∣

CH3

− Cl

CH3 − CH2 −

CH3

∣

C
∣

CH3

− Cl

27. What would be the produt formed when 1-bromo-3

chorocyclobutane reacts with two equivalents of metallic sodium in

ether ? .

https://dl.doubtnut.com/l/_r049n8sD82H7
https://dl.doubtnut.com/l/_AXNmSlku4CkI


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

28. Assertion: Alkyl halides form alkenes when heated above C 


Reason  I reacts slowly with strong base when compared to 

 i.

300∘

Ch3CH2

CD3CH2

https://dl.doubtnut.com/l/_AXNmSlku4CkI
https://dl.doubtnut.com/l/_pzeZqGGdhfbb


A. If both assertion and reason are true and the reasone is the

correct explanation of the assertion .

B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If assertion is true but reasone is false

D. If assertion is false but reason is true .

Answer: C

Watch Video Solution

29. Statement-I: Nucleophilic substitution reaction on an optically

active alkyl halide gives a mixture of enantiomers. 

Statement-II: The reaction occurs by  mechanism.

A. If both assertion and reason are true and the reason is the

correct explanation of the assertion .

SN 1

https://dl.doubtnut.com/l/_pzeZqGGdhfbb
https://dl.doubtnut.com/l/_scSJtBCB99Kw


B. If both assertion and reason are true but reason is not the

correct explanation of the assertion .

C. If assertion is true but reason is false

D. If assertion is false but reason is true .

Answer: A

Watch Video Solution

30. Assertion Addition of  to cis-but-2-ene is stereoselective 


 reactions are stereospecific as well as stereoselective .

View Text Solution

Br2

SN2

https://dl.doubtnut.com/l/_scSJtBCB99Kw
https://dl.doubtnut.com/l/_zzULlaBL5cAG

